MORE MULTIPLICATION FUN ! Do n book
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MULTIPLYING 2-DIGIT NUMBERS

There are 11 pags of shoes. How many shoes are there in all?
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Write the numbers in columns. Multlply the ones by 2.
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STEP 3

Multiply the tens by 2.
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EXERCISE 7.3 DO in  boolk and i?

A. Find the product. Co pi
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B. Solve
There are 21 ﬁ in a packet. -
How many ﬁ are there in 4 packets‘7 2 &8
o X 4'
There are _&4 candles in 4 packets g 4
There are ‘11( ’ in a river.
How many Q are there in 9 1 rivers? \T (\)
e X I8
There are 19 hippos in 9 rivers. aa
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